VECTER

OFFROAD.COM

JL GGB CARGO BASKET INSTALLATION INSTRUCTIONS

PARTS LIST QTY
Cargo Basket

Roll Bar to Basket Brackets
M8 x 25 mm Flange Head Bolt
1/4” Washer

1/4" Wingnut

1/4" Hex Bolt

0o = b=
N

REQUIRED TOOLS

7/16" Socket & Ratchet or Wrench
3/16"L Hex Key

13 mm Socket or Wrench
Anti-Seize

PLEASE READ BEFORE BEGINNING INSTALLATION

Prior to starting the installation of this product we suggest reading the entire instruction
manual. Several of the steps involved in installation of this product are fairly complex and
reading through ahead of time will help you with a pain free installation. An extra minute or
two spent now will save a lot of headache down the road.

This product must be installed by someone with a certain amount of mechanical aptitude.
Vector OffRoad can not be held liable for damage caused to your vehicle due to poor or incom-
plete installation of this product. If you have any questions, are missing parts or need help
locating a skilled installation shop in your area please contact us.

Page 1 of 2
REV 080918



JL HIGHLAND PLATFORM INSTALLATION INSTRUCTIONS VEC I @I !

OFFROAD.COM

1. Check to make sure you have all required parts and tools for installation.

2. Loosely mount the main brackets to the basket using six 1/4” bolts, 6 wing nuts and
12 washers (Use a washer on both sides of the connection). The assembly should look
like the image on the first page at this point.

3. With the help of a friend, secure the brackets to the existing threaded holes on the
rear roll cage bars using the four M8 flange head bolts. Put anti-seize on the leading
edge of the threads of all the bolts. Keep the hardware as loose as possible at this time
to allow for adjustments.

4. Check the alignment of all the parts and make sure that the platform is level
before beginning to torque the fasteners. Do not over torque the fasteners as it may
cause damage to parts that is not covered by warranty.

5. Torque Specs:
A. Arm to Roll Bar Bolts 15 ft-Ibs
B. Arm to Platform Bolts 15 ft-1bs
C. Corner Tie Down Bracket Bolts 15 ft-1bs

Questions or Comments, please email admin@vectoroffroad.com

Page 2 of 2
REV 080918



